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17. WATER – THE SOURCE OF THERMAL ENERGY

 The prologue

Power efficiency of water is not limited to reception from it cheap hydrogen. A plenty of the experiments proving an opportunity of reception by additional thermal energy from water is carried out to last years. There is it in processes cavitation of water and influences of a pulse current on its ions and clusters. 

Below we shall describe a series of experiments which show, that water can generate additional thermal energy and decay on hydrogen and oxygen with a parameter of power efficiency, the much greater of unit. Obvious infringement of the most fundamental law of physics – the law of conservation of energy, has demanded immediate search of the reasons of the arisen contradictions between the theory and experiment, but to execute such search appeared not so simply. It turned out so, that in the Nature there is an inexhaustible energy source, but we till now could not notice it. Why? Further we shall see surprising simplicity of the answer to this question.  

17.1. Plasma electrolysis of water
 Voltamper’s  characteristics

The first-ever patent on plasmoelectrolytic reactor has been received in the USSR in 1987 year [71]. The most simple plasmoelectrolytic the reactor is submitted on fig. 179. Its case is made of a dielectric material. 
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Fig. 179. The elementary plasmoelectrolytic reactor: 1 – the cathode; 2 – the anode; 

3 - a target branch pipe; P-P - a zone of plasma


 The solution moves from below through the tubular cathode. As the area of the anode 2 much more areas of the cathode 1 in the top zone of cathode (Р-Р) there is a plasma. 

        As in plasma there are chaotic processes its resistance varies also chaotically. Oscillograms of a voltage (fig. 180), a current (fig. 181) and power (fig. 182), received with the help of an electronic oscillograph «Handyscope - 2 », confirm it.

It is quite natural, that there are complexities in exact measurement of a voltage and a current on plugs of plasmoelectrolytic reactors, therefore we shall pay the big attention to this question and we shall show, that ignoring of contradictions in indications of various devices long time hid significant reserves of reduction of expenses of electric energy at its pulse consumption.
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Fig. 180. The oscillogram of a voltage in a network of plasmoelectrolytic reactor
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Fig. 181. The oscillogram of a current in a network of plsmoelectrolytic reactor
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Fig. 182. The oscillogram of power in a network of plasmoelectrolytic reactor 
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Fig. 183. The voltamper  characteristic corresponding to table 49

Table 49. Results of experiment at the charge of 1-normal solution HCl 8,74 l/hour and its temperature on an input 23.0 
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	Number
of point

	Volt,

V
	Current,

A
	Energy in entrance,

kJ
	Temperature in entrance,

С
	Energy in exit 
kJ
	Energy 

effect
%

	1
	10
	1.7
	61.2
	24
	36.6
	59.8

	2
	40
	8.2
	1180.8
	49
	952.1
	80.6

	3
	58.5
	9.15
	1927.0
	73
	1831.0
	95.0

	4
	80
	7.85
	2260.8
	82
	2160.6
	95.6

	5
	100
	6.65
	2394.0
	83.5
	2215.5
	93.0

	6
	102
	3.75
	1377.0
	81
	2121.1
	154.0

	7
	85
	4.7
	1438.2
	69
	1684.5
	117.1

	8
	76
	4.3
	1176.5
	65
	1538.0
	130.7

	9
	68.5
	3.75
	924.7
	55
	1171.8
	126.7

	10
	88
	4.5
	1425.6
	71
	1757.8
	123.3

	11
	92
	4.2
	1391.0
	71
	1757.8
	126.4

	12
	94
	4.4
	1489.0
	71.5
	1776.1
	119.3

	13
	98
	4.2
	1481.8
	71
	1757.8
	118.6

	14
	68
	3.9
	954.7
	56
	1208.5
	126.6

	15
	64
	3.3
	760.3
	50
	988.7
	130.0

	16
	61
	3.05
	669.8
	46
	842.3
	1260

	17
	57.5
	9.3
	1925.1
	72
	1794.4
	93.2


The note: energy of allocated hydrogen and oxygen, and also radiated light, were not taken into account. 

         Energy of connection of valent electron of atom of chlorine (tab. 27). 


        On fig. 183 the characteristic plasmoelectrolytic reactor working with one mole  solution of hydrochloric acid HCl is submitted voltamper characteristic .

At increase of a voltage linearly, according to the law of the Ohm, force of a current (fig. 183 and tab. 49) grows. Then, at a voltage more than 40 Volt linearity of change of a current is broken, and at a voltage about 100 Volt (points 5 - 6) force of a current decreases in steps, and the cathode has a bright luminescence (plasma). The further compulsory reduction of a voltage (points 6 - 15) insignificantly changes force of a current. At a voltage about 60 Volt (points 14 - 15) a luminescence at the cathode disappears, force of a current in steps increases almost up to former size [109]. 


 Energy on an input in a reactor was defined under indications of the voltmeter and the ammeter of the best classes of accuracy, and on an output - on a difference of temperatures of the solution past through a reactor.

Voltamper’s  characteristic is individual for each reactor and a mode of its work. It depends on design data of the reactor, used materials of the cathode and the anode, concentration and a chemical compound of a solution, and also from its charge (fig. 184).


 To find out influence of the charge of a solution on voltamper characteristic, special experiments have been lead at the different charge of solution KOH (fig. 184). 


 In all three groups of experiments steady plasma at the cathode appears at a voltage about 100 Volt and disappears at downturn of a voltage up to 80 Volt. During existence of plasma the intensive output steam gas  mixes was observed. 


 Apparently on fig. 184, voltamper characteristics represent double loops. The analysis fig. 184 shows, that the greatest influence on law of change of a current renders the charge of a solution. 
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Fig. 184. Voltamper characteristics of plasmoelectrolitic reactor at the charge of solution КОН: 
(1 – 3.6) l/h; (2 – 8.2) l/h; (3 – 12.2) l/h
             The preliminary analysis shows, that the full description of plasmoelectrolytic process cannot be based on only physical or only chemical representations. It - the interconnected physical and chemical processes, therefore to divide them on physical and chemical it is possible only conditionally.
Physical model of process


 For revealing physical model of process supervision over how it proceeds is rather desirable. For this purpose the special reactor which cathodic chamber has been executed as an aperture in flat organic glass by thickness of 24 mm has been made. The needle cathode from tungsten has been entered from above into an aperture, and the working solution acted from below and left in a lateral aperture. The transparency of an organic glass allows to see some details of plasmoelectrolytic process at different operating modes of a reactor. 

Analyzing the data fig. 183 and tab. 49, it is possible to generate the following physical model of plasmoelectrolytical process. At increase of a voltage up to 60 Volt in a solution works well-known - ionic conductivity. At such potential of a molecule of water, coming into contact to the cathode positively charged protons of atoms of hydrogen, dissociate on molecular hydrogen 
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 (fig. 84) and ions hydroxyl  
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 (fig. 101). In this case there is a usual process of electrolysis of water [109].

In process of increase of a voltage kinetic energy of the ions focused on the cathode which start to separate atoms of hydrogen and their protons from molecules of water grows. In the beginning in the solution, near to the cathode, there are separate sparks. It specifies that protons of atoms of hydrogen are separated from molecules of water and during their movement to the cathode again incorporate with electrons, synthesizing new atoms of hydrogen. The further increase of a voltage increases quantity of the protons separated from molecules of water, and at the cathode plasma of atomic hydrogen (fig. 183 point 5, 6) is formed. Electrons of atoms of hydrogen during this moment are in the excited condition and make transitions from high power levels on low, generating light Balmer’s spectral lines. On intensity of these lines it is possible to judge, between what power levels of atoms of hydrogen the greatest quantity of  electrons makes transitions. 

The visual analysis of the spectrogram (on fig. 79 the part is submitted only) shows, that the greatest quantity  of electrons in atoms of hydrogen passes from the third to the second power level (a light bright strip at the left fig. 79). The light zone near to this strip on the right testifies to simultaneous formation of molecules of hydrogen [60], [61], [62].

In process of a voltage reduction (fig. 183, point 7-14) the volume of plasma decreases, power levels of electrons of atoms of hydrogen on which they are late, leave from protons, energy radiated photons decreases, length of a wave increases, and color of plasma passes consistently from brightly white to red. At last, comes the moment (fig. 183, point 15) when the potential on electrodes appears is insufficient for branch of protons from molecules of water, and process fades, returning system in an initial condition - ionic conductivity (fig. 183). 

Analyzing tab. 49 and fig. 183, we see, that the greatest interest submit data on a mode corresponding to a point 6. This mode was generated spontaneously. In a point 5 steady plasma is absent, blinking near to the cathode is observed only. Then, after a while, the current spontaneously decreases, and at once there is a steady plasma. 

The generated plasma limits contact of a solution to a surface of the cathode (increases resistance in a circuit the cathode - a solution). In result the size of a current sharply decreases and remains such until energy of plasma and enclosed voltage will be enough for branch of protons from molecules of water. 

On border " plasma - a solution " atoms of hydrogen incorporate in molecules. Their further destiny depends on presence of atoms of oxygen. If they are, there is a formation of molecules of water to characteristic microexplosions which generate noise on some operating modes of a reactor. If atoms of oxygen are not present at the cathode molecules of hydrogen mix up with pairs water and leave from a reactor.

If after occurrence of plasma (fig. 183,  point 6) to increase a pressure(voltage) the temperature of plasma grows also an edge of the tungstic cathode becomes in the beginning brightly white, and then starts to fuse and boil. This process is easy for observing through transparent organic glass of a reactor. The more a voltage and the charge of a solution, the more intensively this process. It is known, that temperature of fusion of tungsten 3382
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, and temperature of boiling 6000
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Thus, at plasmoelectrolytic process by a source of plasma atomic hydrogen is. The variable electric field keeps atom of hydrogen in the excited condition, forming its plasma with temperature (2700...5000)
[image: image12.wmf]0

C. Intensity of this plasma will depend on the enclosed voltage and from the charge of the solution washing the cathode. The more enclosed voltage and is more charge of a solution, the more intensively plasma.
Chemical model of process

Starting revealing chemical model plasmoelectrolytic   process, we shall note, that the modern chemistry does not know an abundance of power levels at everyone electron and an abundance energies to connection between atoms in molecules. We do not know, how size energy ofconnections of atoms of hydrogen with atom of oxygen in a molecule of water before our researches, have been received by settlement or experimental way, but we have already shown, that these do not correspond to energy of dissociation of  molecules of water at low-voltage it electrolysis, that is do not correspond to expenses of energy at decomposition of water on hydrogen and oxygen. Therefore before us there is a problem: how to be farther? To trust these and other results of calculations of modern chemistry or to call them into question? 

As atomic hydrogen exists at temperature (2700....5000)
[image: image13.wmf]0

C in a zone of the cathode plasma with such temperature is formed [52]. Certainly, plasma will exist only under condition of sufficient density of atoms of hydrogen in the set volume. For performance of this condition it is necessary to increase density of a current on the cathode. After formation of atoms of hydrogen or their branch from molecules of water they would continue to remain in not excited condition if there was no external influence. However, during work plasmoelectrolytic reactor the atoms of hydrogen are under continuous influence of a variable electric field which compels atoms of hydrogen to be in the excited condition that proves to be true presence of the complete set Balmer’s spectral lines on the spectrogram. Unfortunately, we yet have no full spectrum of atom of hydrogen and we do not know about presence Laimon’s  spectral lines, spectral lines of Pashen, etc., That complicates the analysis of the investigated phenomenon [109]. 

In interphase border "plasma - a solution" the following chemical reactions will simultaneously proceed:


[image: image14.wmf]mol

kJ

OH

H

OH

H

H

e

O

H

/

436

2

2

2

2

2

2

+

+

Þ

+

+

Þ

+

-

-

-

.                (416)   

And

               
[image: image15.wmf].

/

6

.

601

2

0

.

436

6

.

165

2

8

.

82

2

2

2

2

2

2

2

2

mol

kJ

OH

H

кДж

кДж

OH

H

кДж

OH

H

H

e

H

H

OH

O

H

+

+

Þ

+

+

+

Þ

Þ

×

+

+

+

Þ

+

+

+

Þ

-

-

-

-

+

+

-

         (417)

If at the anode the molecule 
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 of oxygen energy will be allocated is formed
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       In models of a reactor, which results of tests are submitted in table 49, hydrogen and oxygen leave through one branch pipe, therefore in it are possible endothermic reactions [2]:

     1-formation of peroxide of hydrogen 
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      2-formation of ozone
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     3-formation of an ion of hydroxonium  
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       Unfortunately, we precisely do not know intensity as electrolytic (416, 417, 418), and endothermic  (419, 420, 421) reactions. Law of change of temperature of a solution (tab. 49) specifies that in a zone of existence of molecular hydrogen (fig/ 183, a point 3, 4, 5) intensity of endothermic  is lower than exothermic  reactions, than in points 7 - 15 where plasma of atomic hydrogen is kept, and the temperature of a solution is reduced. Reduction of temperature of a solution at downturn of voltage in experiment (tab. 49, points 6 - 15) just also speaks intensive absorption of heat at formation of peroxide of hydrogen 
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, ozone 
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 and an ion 
[image: image26.wmf]H

O

3

+

. The low temperature electrolytic solution in a zone of the anode also speaks about endothermic reactions.

Japanese researchers Ohmori and Mizuno have found out on the cathode plasmoelectrolytic reactor points of nickel, chromium, iron and carbon [51]. A source of these chemical elements as they consider, cold nuclear synthesis is. We have already analyzed this phenomenon.

17.2. Circuits of models plasmoelectrolytic reactors


 On fig. 185 the second circuit simple plasmoelecnrolytic  reactor on which the patent № 2157862 [86] is received is shown. The case of 1 reactor (fig. 185) can be made of plexiglas or foreplays. The anode 3 is desirable for making from the titan covered by oxide of ruthenium (orta) or it is simple from steel. The hollow  cathode 4 is made of molybdenum or also from steel. The areas of working surfaces of the anode and the cathode are selected so that the density of a current on the cathode in some tens times exceeded density of a current on the anode. Working solutions can be weak (one mole) solutions of alkalis or acids.

	[image: image27.png]



	Fig. 185. The circuit plasmoelectrolytic  reactor (the patent № 2157862):

The 1-case of a reactor,

The 3-anode, the 4-cathode (final branch pipe), the 5-cathode (inlet branch pipe),

6 and 7 – cartridges




            On fig. 185 the circuit of a reactor on which the patent № 2157427 [85] is received, and on fig. 183 - № 2167958 is shown 

[image: image28.png]11





Fig. 186. The circuit of model of plasmoelectrolytic reactor (the patent № 2157427) [85]:

1 - the case; 5 - a cover; 9 - the anode; 10 - the cathode; 13 - a magnet  
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Fig. 187. The circuit plasmoelectrolytic reactor (the patent № 2167958): the 8-anode; 
the 9-cathode

The circuit of plasmoelectrolytic reactor on which the patent № 2157861 is received, is shown on fig. 188 
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Fig. 188. The circuit of model plasmoelectrolytic reactor (the patent № 2157861) [87]:

10 and 14 - anodes; 11 and 15 – cathodes
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Fig. 189. The circuit of model of plasmoelecrolitic reactor (the patent № 2175027) [129]: 

1 - the case; 3 - the bottom cover; 6-cathode; 9-anode; 14 – a cooler; 

20 - a branch pipe for an output of gases 


The circuit plasmoelectrolytic  reactor with condensation steam of water is shown on fig. 189. At once we warn, that the power effect at plasma electrolysis of water is shown in a narrow range of a combination of various parameters of a reactor and plasmoelectrolytic process.

        The plasmoelectrolytic reactor generates the energy made in heat of the heated up solution, water pair different temperature, atomic and molecular hydrogen, oxygen, ozone, light radiation and noise. Except for it  generates additional electric energy.

     It is uneasy to fix each of the specified kinds of energy separately. It is the easiest to measure thermal energy made in the heated up solution, water pair and allocated hydrogen. Experience has shown, that it  is quite enough for the proof of positive efficiency of plasmoelectrolytic process. 


 The efficiency of a reactor defines the common parameter of efficiency 
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which are taking into account electric energy 
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which is accumulated in the heated up water solution and water to pair, and the energy 
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contained in allocated gases (hydrogen and oxygen), and also light energy 
[image: image36.wmf]E

C

, energy of noise 
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 and electric energy 
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which also generates plasmoelectrolitic  process [109]
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However, it is necessary to have in view of, that is far from being all operating modes of reactors show positive 
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 power efficiency. Plasma to light easily, but to take from it additional energy - business not idle time.

17.3. Energy of chemical connections of molecules of water

      Let's consider energy contents of chemical connections of atoms and the ions formed at formation of a molecule of water. We admit and we managed to start to form molecules of water, having in stock free protons, electrons and atoms of oxygen. We shall calculate quantity of the energy allocated at synthesis of one litre of water.


 In chemistry there are concepts a gram atom and a gramme - molecule. The gram atom is numerically equal to nuclear mass of substance. For example, the gramme - molecule of hydrogen 
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 is equal a molecule of water 
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 to 2 grammes, and the gram atom of oxygen 
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 is equal to 16 grammes. The gramme - molecule of water 
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 is equal to 18 grammes. Hence, in one litre of water contains 1000/18=55.56 grammes - molecules of water.


 As the mass of hydrogen 
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 in a molecule of water 
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 the same ratio between quantity of hydrogen and oxygen is kept and in one litre of water. This implies, that 1000 grammes of one litre of water contain 111 gramme of molecules of hydrogen and 889 gramme of atoms of oxygen.


 One litre of molecular hydrogen 
[image: image50.wmf]2
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 has mass of 0.09 gramme, and one litre of molecular oxygen 
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 - 1.43 grammes. Hence, from one litre of water it is possible to receive 111/0.09=1222,2 litre or 1222.2/22.4=54.56 mol of molecular 
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 hydrogen and 889.0/1.43=621.67 litre or 621.67/22.40=27.75 mol of molecular oxygen 
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     Further we shall pay attention that the mass of atom of hydrogen 
[image: image54.wmf]H

 twice is less than mass of a molecule 
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 of hydrogen. As the mol’s volume of all gases is identical and equal 22.4 litres it means, that if we could lead atomic hydrogen to  normal conditions from one litre of water 2466.67 litres or 2466.67/22.4 = 110.12 mol of atomic hydrogen [109] would receive.

The analysis shows, that electron of atom of hydrogen can appear at the first not excited power level only in the event that there will be no external revolting factors as variables electric and magnetic fields. If external indignation all time is present, the electron in atom starts to pass with one power level to another. In this case energy radiated and absorbed photons will correspond among levels  transitions of electron [109].

     And now we shall consider process of synthesis of molecules of water. It will begin from formation of atom of hydrogen. We have already shown, that this process begins when electron is at 108 power level. Process of synthesis of a molecule of hydrogen begins when electron in atom of hydrogen will be lowered on 4-th power level and radiate a photon (tab. 9) with energy 12.75eV [109]
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     At formation of one asking (mol) of atomic hydrogen energy will be allocated
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         At temperature is lower 2700... 5000С 
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atoms of hydrogen incorporate in molecules. Energy which thus is allocated as chemists consider, is equal 436 kJ/mol. At connection of a molecule of hydrogen with atom of oxygen the molecule of water with allocation of energy 285.8 kJ/mol is formed. If to consider with trust the resulted sizes of energy which is allocated consistently at synthesis of atoms of hydrogen, molecules of hydrogen and molecules of water counting upon one litre of synthesized water the following quantity of energy [109] will be allocated
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             Summarizing the received results, we have 175332.81 kJ/l. It - potential energy which can be allocated at the described consecutive synthesis of one litre of water. The quantity of this energy almost six times is more energy contents  than one litre of gasoline (30000 kJ) [109]. 

The mass of the hydrogen received from one litre of water, is equal 
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 гр. Energy contents of one gramme of molecular hydrogen equally 142 kJ, and the hydrogen received from one litre of water

                                           
[image: image63.wmf]kJ

57

.

15761

00

.

110

142

=

×

                                               (428)                 

It almost twice is less energy conents than one litre of gasoline. 
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Now we shall result a variant of calculation of the energy allocated at synthesis of one litre of water, the closest in a reality. It corresponds to a case when electrons the born atoms of hydrogen are late at the fourth power levels and only after that are united in molecules. In this case at synthesis of one atom of hydrogen energy (13.598-12.748 =0.85 eV will be allocated. And at synthesis of one asking atomic hydrogen energy will be allocated [109]
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        Then from the equation (428) such quantity of energy (82.0х110.12) = 9029.84 kJ/l follows. The total quantity of energy at synthesis of one litre of water in this case appears such (9029.84 + 24006.16+15879.05) = 48915.10 kJ/l. It also is more, than at burning one litre of gasoline (30000 kJ) or hydrogen (15879.05 kJ), received from one litre of water.

So, the most probable is the variant of synthesis of molecules of hydrogen during the moment when electrons of atoms of hydrogen are at the fourth power levels. In this case at synthesis of 1 litre of water it is allocated in (48915.1/30000 = 1.63) 1.63 times of more energy, than at burning one litre of gasoline and in (48915.1/15895.05 = it is more than 3.1 times, than at burning the hydrogen received from one litre of water.

So that to receive additional energy, it is necessary to synthesize in the beginning atoms of hydrogen, and then a molecule. Processes of their synthesis also are the main source of additional thermal energy, but at usual electrolysis of water as we have already shown, they do not go.

 Certainly, in an ideal case for check of these calculations it is necessary to take free protons, to connect them with free electrons and to receive atomic, and then - molecular hydrogen. Then to connect molecular of hydrogen to atomic oxygen and to receive water. After measurement of energy which will be allocated during synthesis of atoms of hydrogen, its molecules and molecules of water, it will be possible to establish, what from methods of calculation reflects a reality more precisely. But such ideal process to carry out difficultly. It is easier to find an economical way of destruction of a molecule of water and then, by its synthesis in the specified sequence, to receive additional thermal energy. 

Now we see, that additional thermal energy generate by electrons. Whence they take it? Considering model of electron, we have established, that it can exist in a free condition only at its strictly certain electromagnetic mass. At connection with a nucleus of atom, it radiates a part of energy as photons and its electromagnetic mass decreases. But stability of its condition thus does not worsen, as the energy which has been carried away by a photon, energy of connection of electron with a nucleus of atom compensates. As soon as it will be separated from atom and appears in a free condition for maintenance of the stability it should restore the mass corresponding to its free condition. Where it will take it? A source one - the surrounding physical environment (physical vacuum) as an ether. From this environment it also fills the lost energy (mass) as the radiated photon. Having restored constants (mass, energy, a charge),  the electron steady free condition gets.  

As soon as conditions for the introduction of electron in connection it at once radiates energy as photons will be generated. At a new stage of a free condition it again restores the constants (mass, a charge, energy), absorbing an ether from an environment. Thus, electron transforms energy of environment surrounding it (physical vacuum) to energy of photons [72], [109].                        

Here there is at once such question: whether there is a free space in atom which can be a source of the ether absorbed by electron at restoration by it of the constants? The answer follows from geometrical parameters of atom, and they are those: if the size of a nucleus of atom to present equal to one mm the size of one electron in atom will be about meter, and the size of the atom about 100 meters. So in atom enough the free space filled with an ether, necessary to electron for restoration of the constants after loss of connection with a nucleus of atom or with electron the next atom.

From stated follows, that a source of additional thermal energy is the physical vacuum, and the electron is the converter of energy of vacuum in energy of a photon [84]. As thermal energy – set of photons electrons will transform energy of physical vacuum to thermal energy.


 The resulted results of calculations show an opportunity of reception of additional thermal energy at electrolysis of water, but for this purpose it is necessary to create conditions for realization of this opportunity. 


 The preliminary analysis of occurrence of additional thermal energy at the phenomena cavitation of water shows, that a source here the same, as at electrolysis of water. Mechanical destruction of molecules of water results in the subsequent synthesis of atoms and molecules of hydrogen, and water. The electrons carry out here the same role, as at electrolysis of water. They transform energy of vacuum to energy of photons [244].

17.4. An inexhaustible energy source 

Inexhaustible energy source on lips of many scientists, but representations about it different as they are formed by a different level of knowledge of this source. We are amazed for a long time with inexhaustibility of thermal energy of the Sun, but only now we start to understand a source of this energy. We already know, that it is formed by set of thermal photons which are radiated by electrons at synthesis of atoms and molecules, therefore there is a following natural question: of what electrons form photons?

It is known, that the mass  free electron is strictly constant and equal 
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. This implies, that electron can radiate 
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light photons. It is known also, that electrons of atoms, for example spirals of a bulb, radiate on a light photon for one fluctuation, that is at frequency of 50 Hz - 50 photons in a second. In result electron can transfer own mass in mass of light photons for 
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seconds or - in one hour. 

Thus, if electron will not restore the mass after radiation of photons it will disappear through one hour. Unusual result. From it follows, that electrons, radiate photons, immediately restore the mass. A source one – an environment filled with a substance which we name an ether. 

If electron of atoms of the Sun did not restore the mass after radiation of photons which heat us it is difficult even to predict its destiny. We just now start to understand, that the electric energy consumed by a bulb, is spent for process of transformation of energy of an ether in thermal for us thermal and light photons.

At once there is a question: how to force electrons to work more economically and to allow to us thermal energy more than what we spend, forcing them to transform energy of an ether to energy of thermal photons?

Let's pay attention to that processes of radiation of photons by electrons, restoration the of mass by them due to absorption of an ether and the subsequent radiation of photons have the duration. However, we ignore it and we force electrons to work at breaks, loading their constants or a variable voltage.

As the main heat-carriers are air and water the electrons of their atoms  it is necessary to force to generate thermal photons more economically. But how it to make? It is the easiest to influence on electrons of atoms and ions of water as it is easier for making electrowire.


 Last years a plenty of experimental data about reception of superfluous heat in various technological processes [50], [51], [59], [64], [65], [67], [72], [74], [77], [79], [81], [83], [103], [109], [130], [180], [200], [206] is published, etc. It is Experimentally already proved, that such heat is allocated in ventilating systems and in systems covitation of water. As has shown our analysis, the most probable source of additional energy in systems of ventilation and cavitation of water is the physical vacuum. Energy from it take away valent electrons of the destroyed ions and molecules and allocate it at their repeated synthesis.

         We have already analysed power of chemical connections of molecules of hydrogen, oxygen and water, and have shown, that on mechanical destruction of their chemical connections it is required twice to less energy, than on thermal destruction of these connections. In result after mechanical destruction of chemical connections valent electrons are able to with lack of the energy corresponding to such condition. They compensate this lack, absorbing energy as an electromagnetic substance from an environment and allocating it as thermal photons at repeated synthesis of ions and molecules of water.


 As on mechanical destruction of chemical connections of ions and molecules of water it is required twice to less energy, than on thermal destruction of these connections, it - the main reason by virtue of which it is not possible to raise a parameter of power efficiency one-stage cavitation processes above 200 %. At increase in quantity of steps power efficiency can increase.


 And what if chemical connections to destroy in the electrodynamic way? In this case there is an opportunity to find resonant frequencies and thus considerably to reduce expenses of energy for this process. At the subsequent synthesis of ions their valent electrons inevitable will allocate necessary quantity of thermal energy. 

    As thermal photons are radiated by electrons at synthesis of atoms, molecules and ions in water this function can execute electrons of ions 
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 (fig. 190, а).
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Fig. 190. Circuits: а) hydroxyl  
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; b) cluster 
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 The analysis shows, that in this case with increase in temperature distance between a proton 
[image: image76.wmf]1
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 and electron 1, and also between electron 1 of atom of hydrogen and electron 2 of atom of oxygen increase. And, as this increase follows the account of the photons absorbed by electrons this process becomes pulsing. Frequency of these pulsations depends on speed of increase in temperature of a solution and as a whole is small.  

The ion 
[image: image77.wmf]-
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 will consist of atom of oxygen and atom of hydrogen (fig. 190, а). It has the linear form. On the right - axial electron 3, and on the left end of an axis of an ion – a proton 
[image: image78.wmf]1
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 of atom of hydrogen. Their set – an ideal part of an electric circuit. On one end of cluster such ions – a positive charge, and on the friend - negative (fig. 190, b). 

     Thus, if to organize pulse break of connections between electrons, connecting ionic cluster, it is equal on such interval of time which will allow them to restore mass, absorbing an ether and to radiate it at restoration of the broken off connections it will mean creation of controlled process of transformation of energy of an inexhaustible source – an ether in thermal photons. 
          Pulses of a current which move to electrodes, focus an ion 
[image: image79.wmf]-
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 so, that the proton 
[image: image80.wmf]1

P

 of atom of hydrogen is guided to the cathode, and electron 2 of atom of oxygen – to the anode. In result pulses appear directed along an axis of an ion. Apparently (fig. 190, а), from it) it is possible to separate a proton 
[image: image81.wmf]1
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 of atom of hydrogen or all atom (a proton 
[image: image82.wmf]1
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 with electron 1). In result there will be an atom of oxygen. After branch only a proton it immediately to direct to the cathode, will receive electron, forms atom of hydrogen. At high density of a current on a surface of the cathode set of formed atoms of hydrogen inevitable will generate plasma. It is very unstable and undesirable in this case process. And what, if branch of atom of hydrogen to organize not in a zone of the cathode, and in interelectrode space?


 If to influence an ion 
[image: image83.wmf]-
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 such pulses that atoms of hydrogen, after resonant branch from electron 2 of atom of its oxygen electron and electron 1 of atom of hydrogen were separated, lost touch, are able to with lack of energy (electromagnetic mass), corresponding energy of their connection. Where they will take it? Only from an environment. And if in an environment there are no photons necessary for it? A source one – physical vacuum. Having swallowed up necessary quantity of energy from physical vacuum, electrons of atoms of hydrogen and oxygen, are able to take up again. At them two obvious opportunities: again to incorporate and form just the destroyed ion 
[image: image84.wmf]-
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 or to incorporate to two atoms of hydrogen and two atoms of oxygen to form molecules of hydrogen and oxygen which are then allocated from a solution. Both these phenomena are realized in the specified process. They - exsotermic. Processes of repeated synthesis of ions 
[image: image85.wmf]-
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, molecules of hydrogen and oxygen will be accompanied by radiation of photons which will heat up a solution.


 So that to realize the described process, it is necessary to keep with the help of an electric field an ion 
[image: image86.wmf]-
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 in the intense, stretched condition. At increase of a voltage this ion can be divided into atom of oxygen and atom of hydrogen. Atoms of oxygen will direct to the anode, will incorporate in molecules and will be allocated as bubbles. The destiny of atoms of hydrogen depends on density of potential on the cathode. If it will be much more, than on the anode high concentration of atoms of hydrogen will generate plasma in a zone of the cathode. To exclude formation of plasma at the cathode, it is necessary to replace a constant voltage pulse. Then two phases will appear. A phase of presence of pulse potential between the anode and the cathode and a phase of its absence. At the moment of action of a pulse the ion 
[image: image87.wmf]-
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 is divided on atom of oxygen and atom of hydrogen. In result valent electrons of these atoms are able to lack of the energy, equivalent them energies of connections when they were in structure of an ion 
[image: image88.wmf]-

ОН

. 

           Lack of energy at valent electrons of atoms of oxygen and hydrogen results them in a unstable condition in which they cannot be long time. To restore a steady condition, valent electrons absorb a necessary electromagnetic substance from an environment. If the potential during this moment is absent, valent electrons of atoms of oxygen and hydrogen again incorporate, radiating thus thermal photons which heat up a solution. 


 Further there is a following pulse of a voltage and process repeats. Thus, the ion 
[image: image89.wmf]-
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 all time is in preplasma a condition. Stability of the described process depends on density of pulse electric potential in interelectrode space. If it has optimum size the preplasma operating mode is formed. If it is too great, preplasma process in steps passes in plasma. Force of a current sharply increases and sharply power efficiency of process of generating of additional energy as heat decreases. 

       In process of increase of a voltage the tension ionic clusters increases and they can be broken off, translating electrons 3 and 4 (fig. 190, b), connecting clusters, in a free condition with smaller mass, as a part of it they radiate as photons at synthesis of ions 
[image: image90.wmf]OH
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 and cluster. Lack of mass breaks their stability and they aspire to restore immediately it, absorbing an ether. After restoration of mass, they again restore connections, with a proton 
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 and atoms of oxygen, radiating thus thermal photons.

     The main thing in this process – to exclude formation of plasma, as it – difficultly controlled and not so economical process. It was reached by regulation of a dielectric backlash 15 (fig. 191, а). Plasma is absent, if this backlash is in an interval of 2-5 mm.

        It is known, that water heat up to 
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 infra-red photons with length of a wave 
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. The circuit of a cell for realization of the described idea, is shown on fig. 191, and on fig. 191, b – the circuit of experience.

The experimental cell ate a pulse voltage with porosity of triangular pulses equal 100. Amplitude of a voltage is  300 V, the amplitude of force of a current 50 A.


 At once contradictions in indications of various devices were found out. The devices connected to plugs of a cell, showed power of 1.50 Watts, and the counter of the electric power established on an input, showed 150 Watt. There was a necessity to understand the reason of these contradictions. However, textbooks after the electrical engineer, electronic technics(technical equipment) did not allow to make it. The reason of contradictions remained the unknown person, therefore it was necessary to begin with the analysis of process of formation of porosity of pulses.

Let's look, as the size of the average voltage, submitted to the consumer as rectangular pulses (fig. 192) is defined.
[image: image94.jpg]



Fig. 191: а) the circuit of a cell of the water-electric generator of heat (the patent № 2258098): 

 9 - the cathode; 4 – the anode; 15 – a dielectric backlash; b) the circuit of experimental installation    

On fig. 192 
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- the period of following of pulses, with; 
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 - duration of a pulse, with. If pulses rectangular their porosity 
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 is defined under the formula
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Fig. 192. The circuit of rectangular pulses of a voltage

The porosity of pulses can be defined also by division of all area corresponding to the period of following of pulses, into the area of a pulse (fig. 192).
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          There is still a concept factor of filling 
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which allows to take into account the form of pulses. If pulses rectangular the factor of the form of pulses 
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 and factor of filling 
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 is defined under the formula 
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  It means, that energy moves to the consumer only during half of period.

 If pulses triangular, 
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Let's pay attention to that porosity of triangular pulses will be twice more. 
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     Textbooks after the electrical engineer and electronic technics(technical equipment) recommend to define average sizes of a voltage and a current by division of their peak values into porosity of pulses. These results completely coincide with indications of the voltmeter, the ammeter, a wattmeter and an oscillograph connected to plugs of a cell (fig. 191, а). In result power on plugs of a cell appears equal 300/100х50/100=1.5 Watt.

      However, the counter of the electric power connected on an input to plugs of the electronic generator of pulses, shows 150 Watt. Textbooks after the electrical engineer and electronic technics(technical equipment) assert correctness of these indications. To them it is written, that at definition of electric pulse of power product of amplitudes of pulses of a voltage and a current shares on porosity of pulses once, that is 300х50/100=150 Watt.

 This result is considered correct therefore (as it is considered now), that the voltage and a current vary simultaneously and synchronously, therefore in a pulse of power of their porosity are united in one porosity. – the main argument of the proof of that average power of a pulse it is necessary to define it under the formula [209], [216]
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 It is necessary to note, that this size of power will be and on a shaft of the primary generator of electric energy, but it does not reflect true power in plugs of the consumer. 

From stated follows, that the main reason of different power on plugs of the pulse consumer of the electric power and the primary power supply - a different average voltage in different sections of an electric network. To be convinced of it, we will address to the schedule of change of a voltage and a current during all experience submitted on fig. 192.

      Experiences last 5 mines or 300 сек. (fig. 193) It means, that at unitary division of product of a voltage and a current into porosity one of multiplied sizes remains on plugs of a cell of a constant. In this case or the voltmeter should show 300 V (fig. 193, а), or the ammeter – 50 A (fig. 193, b) during 300 with. All devices connected to plugs of a cell, refuse to submit to recommendations of textbooks. At the same time, the devices connected on an input, to plugs of the electronic generator of pulses, confirm recommendations of textbooks. A strange situation, but with it were reconciled and did not search for the reason of these contradictions. 


   At the porosity of pulses equal 100 and duration of experiment 300s energy in a cell moves 300/100 only 3 s, and 297s the cell does not receive energy, as is the reason of so small average power. 
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Fig. 193. The circuit of time of action maximal (300 V, 50 А) and average (3.0 V, 0.5 А) values of a voltage and a current

Let's pay attention to that an average voltage on plugs of a cell equally 3 V, and on an input in system – 220 V. The size of a current in these sections of a network differ insignificantly. On plugs of the counter of the electric power established on an input a current, it was equaled 0.68 A. In view of it, the counter showed power 220х0.68=150 Watt.

         Let's present, that we have made the generator which generates pulses of a voltage with porosity 100 (fig. 194). It means, that the shaft of such generator will be loaded by loading for generating a voltage not on all contour of a circle of a rotor (360
[image: image110.wmf]0

), and sector, with a corner of sector 360/100=3.6 
[image: image111.wmf]0

 (fig. 194). Taking into account presence of two magnetic poles 3, we have working sector 7.2
[image: image112.wmf]0

. It means, that on a shaft of such generator  an energy there will be absent in sector 360-7.2=352.8
[image: image113.wmf]0

.

            If pulses rectangular their porosity will be equal S = 352.8/7.2=45,23 
[image: image114.wmf]0



EMBED Equation.3[image: image115.wmf]0

and if triangular - S = 45.23х2=90.46. 
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Fig. 194. The circuit of the electromechanical generator of pulses of a voltage and a current:

1- magnet; 2 – a rotor; 3 - magnetwire; 4 – stator
              Let's especially note, that mechanical losses will be (360
[image: image117.wmf]0

) on all contour. It is known, that they are within the limits of 5-10 %. Electromagnetic losses at formation of pulses of a voltage will be only in sector 7.2
[image: image118.wmf]0

. Working loading on a shaft of the generator also will be formed only in sector 7.2
[image: image119.wmf]0

.       

             It is quite natural, that the average size of a voltage will be equal to its peak value divided into porosity of pulses. If there is no loading energy will be spent only for generating of a voltage. Naturally as well that at occurrence of loading the average size of a current will be equal to its peak value divided into porosity of pulses. 

        It means, that the shaft of such generator is loaded by process of generating of a voltage not on all contour of a circle of a rotor, and only on its centesimal. The current which will come to such generator from loading, will load it not on all contour of a circle, and only in an interval its one 100-th. In result for generating such voltage and for perception of pulse loading of the consumer the shaft of the generator which we result with the help of the electromotor, will be loaded by working loading not on all contour of a circle of its rotor, and only on one 100-th this circle. 

         In this case the average voltage of the primary power supply will be equal to the pulse of a voltage divided into porosity, and the average current will be equal pulse, divided on porosity. It is quite natural, that at definition of average power, we are obliged in this case product of pulse values of a voltage and a current to divide into porosity not once as it is submitted in the formula (435), and twice
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 Here it is necessary to note, that the industry does not let out pulse electrogenerators, therefore and there is no correct representation about power consumption of pulse consumers of the electric power. 


 Now we see, that true expenses of electric energy are determined by any pulse consumer only at use of the electromechanical generator of the pulses which are not having electric connection with all electric network. Singularity of such generator consists that it  synchronizes pulsemanufacture of the electric power with its pulseconsumption.

 Thus, the revealed features of an electric network of a power specify that at a pulse current consumption its size is overestimated in the quantity of times equal to porosity of pulses. It is quite natural, that erroneous procedure of definition of the power consumed by pulses, deforms results of interpretation of power consumption of pulse consumers of the electric power.


 We shall look now as procedure of correct measurement of the power consumed as pulses is realized, at use of the international system of units. According to system of SI if within one second one pulse of a voltage with amplitude 
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 and with the set duration 
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moves, and one pulse of a current with amplitude 
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 and duration 
[image: image124.wmf]t

 that is generated, the specified sizes of a voltage and a current can be used for calculation of power only in that case when their duration will correspond to one second. Such requirement follows from definition of a power unit of Watt. 
          Watt – the work made by a current and a voltage it is continuous within a second. Hence, pulse action of a voltage and a current should be dragged out about one second. It is natural, that instead of a pulse the extended rectangular in this case turns out. The height of this rectangular increased on factor of the form of a pulse 
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 if the form of a pulse is resulted in the rectangular form and 
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 if the form of a pulse is resulted in the triangular form) and will be average size 
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 of a voltage if the pulse 
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 of a voltage is stretched, in average size 
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 of a current if the pulse 
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 of a current and as now considers, in average size 
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 of power if the pulse 
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 of power is  stretched. 
               If within a second one is generated not, and some pulses the specified average values of pulses of a voltage, a current and power it is necessary to increase on frequency 
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 of pulses. This operation is equivalent to division of peak values of a voltage 
[image: image135.wmf]IC

U

, a current 
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 and power 
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 into porosity 
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 Paying attention to formulas (437) and (438), we see, that peak sizes of a voltage 
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 and a current 
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 are resulted in duration of one second, therefore their sizes strictly correspond to system of SI that is the weighty proof of that average power of a pulse should be defined under the formula
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 We pay special attention once again that this size of power is realized only at use of the electromechanical generator of pulses. At presence of two magnetic poles 1 (fig. 195) it has working sector 7.2
[image: image145.wmf]0

. It means, that on a shaft of such generator there will be an energy of idling in sector (360 – 7.2)
[image: image146.wmf]0

, and the worker - only in sector 7.2 a hailstones. This implies, that at generating such pulses of a voltage the shaft of the generator will be loaded by working loading 7.2/360=0.02 time of one revolution of a rotor or, easier speaking, rectangular pulses of a voltage will be generated with porosity 1/0.02=50  and triangular – with porosity 100. 

      At once we pay attention to the main thing: in this case indications of the voltmeter and the ammeter will be identical on plugs of the electromechanical generator of pulses and the consumer, therefore at definition of average power product of peak values of a voltage and a current is necessary for dividing into porosity of pulses twice 300/100х50/100=1.5 Watt.

     It is quite natural, that mechanical power on a shaft of such generator will be equal 300/100х50/100=1.5 Watt. To this power it is necessary to add mechanical and electric losses. It is known, that they can reach 30 %. Then on a drive of such generator power 1.5+0.5=2.0 Watt is required. 

      However, absence of financing has not allowed us to make such generator, therefore for check of the reliability, the law of formation of power revealed by us in various sections of an electric circuit we used magneto of tractor S-130. It was resulted in rotation by the electric motor (fig. 195) and generated pulses of a voltage and a current (fig. 196), far on all parameters from those pulses which were generated with the electronic generator of pulses (fig. 197). And, nevertheless, power efficiency of a cell reached 300 %. 
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Fig. 195. The electric circuit of system: 1 – a thermal cell; 2 - the electromotor; 

3 - magneto; 4 – muff, connecting a shaft of the motor with shaft magneto; 

5 - the counter of the electric power; 6 - oscillograph Nektronix TDS 2014
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Fig. 196. A sample of the oscillogram of a voltage and a current, generated by magneto
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Fig. 197. voltage

 In tab. 50 results of experiment are submitted. Here 
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 - thermal power of the heated up solution; 
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 - the power which is taken away by a cell from a network; it is equal to a difference of indications of the counter of the electric power at the included and switched - off loading (cell); 
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- the power shown by the voltmeter 
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 and the ammeter 
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, established before a cell; 
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 - the power shown by an oscillograph and determined under the formula (436); 
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 - the power shown by an oscillograph and determined under the formula (435); 
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- a parameter of efficiency of process of heating of a solution. 

Table 50. Parameters of direct experiment

	Number of experiment
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	1
	9.40   
	 3.10
	4.32
	3.80
	17.10
	3.10

	2
	9.80   
	  3.53
	4.45
	3.41
	15.35
	2.77

	3
	10.20   
	 3.10
	4.40
	4.30
	19.35
	3.34

	4
	11.30  
	  4.80
	5.10
	4.80
	21.60
	2.35

	5
	13.28   
	 4.00
	5.00
	5.30
	23.85
	3.32


The note-1: so minor alteration of power with the help of the counter of the electric power was defined by calculation of quantity of revolutions of its disk with use of a stop watch. Indications of the counter were duplicated by indications of an electronic wattmeter. The maximal difference of their indications did not exceed 20 %.
The note – 2: to reduce an error of measurements which results from losses on heating of a winding of the electromotor at the included loading, its power was much more power of loading and made more than 300 Watt.
            Magneto it was possible to adjust so, that it generated pulses of a voltage which average amplitude was equaled 
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. It is quite natural, that such form of a pulse it is more convenient to lead to  the triangular form and then 
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. As a result of the formula (437) and (438) give such average values of a voltage and a current.
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  Calculation of average power under the formula (436) gives the result 
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 close to indications 
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 and to indications 
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 of the counter (tab. 50, experience 2).
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             The average power determined under the formula (435)  
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it is much more than indications of the voltmeter and ammeter 
[image: image180.wmf]2

P

, and also indications of the counter 
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 and the indications 
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 of an oscillograph designed under the formula (436) (tab. 50, experience 2).

            Comparing results of calculations under formulas (435 and 436) with results of experiment 
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 and 
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 (tab. 50, experience 2) we see, that at definition of average power under the oscillogram product of peak values of a voltage and a current should be divided into porosity not once (435) as it is written in textbooks [209], [216], and twice (436). Only such value of power will correspond to a reality. 


 Thus, we have removed contradictions between indications of devices and calculations at pulse consumption of electric energy. And now we shall ask such question: under what formula of power of a pulse of the winner of the first premium «Global energy» paid off? The answer is clear – under the formula 
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which as it is considered in modern physics, defines instant power of a pulse and which as we have already shown, is fictitious size.


 As in the formula (445) power of one pulse it is quite natural is reflected, as 
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EMBED Equation.3[image: image187.wmf]IC
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 can have very big sizes. But in any case their product gives not real, but fictitious size. If we shall take porosity of pulses which we used in the experiments (
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) and we shall take into account, that for reception of real power of a pulse, the right part of the formula (445) is necessary for dividing into a square of porosity (in we consider a case) - on 
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) real power of a pulse 
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 appears in 10000 times less than that size for which the premium has been given. If to take into account, that duration of a pulse of the winner was much less, than in our experiment, and porosity is much more 100 the real size of a pulse of power will be less for what he has received the premium, in millions times. 


 We shall calm representatives of committee «Global energy». Their mistake - a trifle in comparison with the mistakes admitted by the Nobel committee [223], [241], [243].

17.5. Variants of experimental check of efficiency of preplasma thermal effect


 The primary goal of experiments has consisted in check of a hypothesis: «Electrodynamics influence allows to reduce by molecules and ions of water considerably expenses of energy for destruction of their chemical connections, and the subsequent synthesis of these ions and molecules - considerably increases an output of additional energy as heat». For the decision of this problem special experiments on electrodynamics destruction of chemical connections of ions and molecules of water have been put by electric pulses of various frequencies. The circuit of installation on which experimental researches were carried out, is shown on fig. 191 [204]. 

          Devices and the equipment, used in experiment

Cell of the water-electric generator of heat (fig. 198). Electronic balance with the price of division 2 gr. A stop watch with the price of division 0.1s. Thermometers with the price of division 1
[image: image191.wmf]0

. The voltage and a current on an input in a cell of the water-electric generator of heat were defined by voltmeter M2004, a class of accuracy 0.2 (GOST 8711-78); ammeter M20015, a class of accuracy 0.2 (GOST 8711-60) and electronic oscillograph АСК-2022.  

The first model of a cell (the Patent № 2228390)
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Fig. 198. The circuit of the first model of a cell of the water-electric generator of heat: 1-case; 

2-cover; 9-anode; 12 – the cathode; 9-generator of pulses; 10 - a circuit of management; 

  20-electrolytic a backlash

          The electric circuit of the generator of pulses is submitted on fig. 199. On fig. 200 the oscillogram of pulses of a voltage, and on fig. 201 – the oscillogram of pulses of the current fixed at frequency of pulses about 300 Hz is submitted. Calculation of factor of filling under these oscillograms has given result Z = 0.11. At average values of amplitudes of pulses of a voltage and a current, equal, accordingly 250 V and 10.6 A. Average making voltage and a current, acting in a cell of the generator of heat, have made: 
[image: image193.wmf]c
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 = 0.11 х 250 = 27.5 V; 
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 = 0.11 х 10.6 = 1.17 A. The avarage values of a voltage and a current under indications of the voltmeter and the ammeter in this experiment were equal 25.0 V and 1.25 A. According to it, average value submitted on a cell of the generator of heat of electric power on the data oscillograph measurements has made 27.5 х 1.17 = 32.18 Watt, on the data point’s devices – 25 х 1.25 = 31.25 Watt.  
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Fig. 199. The electric circuit of the generator of pulses (the Patent № 2228390)

Samples of oscillograms
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Fig. 200. The oscillogram of pulses of a voltage  
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Fig. 201. The oscillogram of pulses of a current   


Results of calculations of power efficiency of the first cell of the generator of heat for both methods of measurement at frequency of pulses about 300 Hz are resulted in tab. 51.  

            Table 51.
	Parameters
	Data

	1. Mass of the solution past through a cell 
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, kg.
	0.41

	2. Temperature of a solution on an input in a cell 
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1

, a degree.
	26.00

	3. Temperature of a solution on an output from a cell 
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, a degree.
	76.00

	4. Difference of temperatures of a solution 
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, degree.
	50.00

	5. Duration of experiment
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, s
	300.00

	6. Indications of the voltmeter 
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, V
	25.00

	6’. Indications of an oscillograph 
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, V
	27.50

	7. Indications of the ammeter 
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, A
	1.25

	7’. Indications of an oscillograph 
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	1.17

	8. The charge of the electric power 
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, kJ
	9.38

	9. Energy of the heated up solution 
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, kJ
	8.79

	10. Parameter of efficiency of a cell             
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	8.72


The second model of a cell  

         The circuit of the second model of a cell is submitted on (fig. 202), and results of its tests - in tab. 52.
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Fig. 202. A photo of the second model of a cell of the water-electric generator of heat

    Table 52.
	Parameters
	Data

	1. Mass of the solution past through a cell 
[image: image212.wmf]m

, kg.
	0.55

	2. Temperature of a solution on an input in a cell 
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1

, a degree.
	26.00

	3. Temperature of a solution on an output from a cell 
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2

, a degree.
	38.00

	4. Difference of temperatures of a solution 
[image: image215.wmf]D

t

t

t

=

-

2

1

, degree.
	12.00

	5. Duration of experiment
[image: image216.wmf]D
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, s
	300.00

	6. Indications of the voltmeter 
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, V
	10.0

	6’. Indications of an oscillograph 
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, V
	9.75

	7. Indications of the ammeter [image: image219.wmf]I

, A
	0.50

	7’. Indications of an oscillograph [image: image220.wmf]I

, A
	0.51

	8. The charge of the electric power 
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, kJ
	1.50

	9. Energy of the heated up solution 
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, kJ
	26.33

	10. Parameter of efficiency of a cell          
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	17.56


The third model of a cell (the Patent № 2258097)
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Fig. 203. The third model of a cell of the water-electric generator of heat 
(the Patent № 2258097)

Samples of oscillograms
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Fig. 204. A voltage
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Fig. 205. A voltage
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Fig. 206. A current
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Fig. 207. A current


Calculation of parameters of process under oscillograms (fig. 204-207) to the report of control tests (tab. 53) has yielded such results. Scale of pulses 10. Average amplitude of a voltage on fig. 204 and fig. 205:   
[image: image230.wmf]C

U

 = (23+25+28+10+26+29) х10 / 6 = 235 V. Average amplitude of a current on fig. 206 and fig. 207:    
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I

 = (20+6+17+7+10+19+3) х10 / 7 = 117 A. The period of following of pulses Т = 7.4 ms. Duration of pulses 
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 = 0.28 ms. Frequency of pulses f = 1000 / 7.4 = 135.1 Hz. Porosity of pulses S = 7.4 / 0.28 = 26.32. Factor of filling Z = 0.5/26.32 = 0.019. Average value of a voltage of pulses 
[image: image233.wmf]C

U

= 0.019 х 235 = 4.47. V. Avarage value of a current in pulses 
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= 0.019 х 117 = 2.22 A.   Results of tests of thirds of model of a cell of the water-electric generator of heat are submitted in tab. 53.

Table 53.
	Parameters
	1
	2
	3
	Midlle.

	1-mass of the solution past through a cell 
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, kg.
	0.470
	0.432
	0.448
	0.450

	2-temperature of a solution on an input in a cell 
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t

, a degree.
	22
	22
	22
	22

	3-temperature of a solution on an output from a cell 
[image: image237.wmf]2

t

, a degree.
	66
	66
	65
	65.67

	4-difference of temperatures of a solution 
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	44
	44
	43
	43.67

	5-duration of experiment
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	300
	300
	300
	300

	6-indications of the voltmeter 
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, V
	4.50
	4.50
	4.50
	4.50

	6’- indications of an oscillograph 
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, V
	4.47
	4.47
	4.47
	4.47

	7-indications of the ammeter [image: image242.wmf]I

, A
	2.1
	2.1
	2.1
	2.1

	7’- indications of an oscillograph 
[image: image243.wmf]'

I

, A
	2.2
	2.2
	2.2
	2.2

	8-the charge of the electric power under indications of the voltmeter and the ammeter 
[image: image244.wmf]t
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	2.84
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	2.84
	2.84

	9-energy of the heated up solution 
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	82.51
	75.84
	76.86
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	10-parameter of efficiency of a cell       
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2

/

E

E

K

=


	29.05
	26.70
	27.06
	27.60


The fourth model of a cell (the Patent № 2258098 fig. 191, а)

Results of tests of this cell are resulted in tab. 54.

Table 54.
	Parameters
	1
	2
	3
	Midlle.

	1-mass of the solution past through a cell 
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, kg.
	0.352
	0.342
	0.242
	0.312

	2-temperature of a solution on an input in a cell 
[image: image248.wmf]1

t

, a degree.
	20
	20
	20
	20

	3-temperature of a solution on an output from a cell 
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, a degree.
	85
	83
	94
	87,3

	4-difference of temperatures of a solution 
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, degree.
	65
	63
	74
	67.3

	5-duration of experiment
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	300
	300
	300
	300

	6-frequency of pulses, Hz
	138.2
	138.4
	138.8
	138.5

	6-indications of the voltmeter 
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, V
	5.5
	5.0
	5.0
	5.17

	7-indications of the ammeter [image: image253.wmf]I

, A
	1.90
	1.90
	1.50
	1.77

	8-the charge of the electric power under indications of the voltmeter and the ammeter 
[image: image254.wmf]t
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, kJ
	3.14
	2.85
	2.25
	2.75

	9-energy of the heated up solution 
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	91.29
	85.97
	71.45
	82.90

	10-parameter of efficiency of a cell       
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	29.07
	29.93
	31.76
	30.25


17.6. The report of control tests


 The main requirements to experimental researches – reproducibility of result. If results are reproduced steadily and independent experts confirm this fact the hypothesis explaining essence of process, gradually gets rights of a postulate. Representatives of firm SITIS from. Sarov have expressed desire to carry out joint tests of a cell of the water-electric generator of heat [212].


 Tests were carried out: on February, 27, 2004 at Kuban state agrarian university (КSАY) in Krasnodar. Independent experts observed carrying out of experiences, registered results of measurements of all sizes.


 Experiments are carried out at presence:

from КSAY-Kanarev F.M., Tlishev A.I., Bebko D.A., Drobot J.A. from Open Company SITIS – Kataev J.G., Tjutin V.F.

            The circuit of a cell of the water-electric generator of heat are shown on fig. 191, a. The circuit of experimental installation is shown on fig. 191, b.

         The circuit of submission of electric energy in a cell of the water-electric generator, developed by authors, is left without changes. The measuring part of the circuit is added with the digital remembering oscillograph PCS-500, included to in parallel regular oscillograph  Aktakom ASK-2022 (fig. 208).
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Fig. 208. The circuit of connection of the measuring equipment: 1-cell of the water-electric 
generator of heat; the 2-generator of pulses; 3-oscillograph ASK-2022; 

4-oscillograph PCS-500; the 5-bridge of resistance É-3

Devices and the equipment, used in experiment

Special cell of the water-electric generator of heat (fig. 191, a). Electronic balance with the price of division 2 gr. A stop watch with the price of division 0.1 s. Thermometers with the price of division 1 degree. The voltage and a current on an input in a cell of the water-electric generator of heat were defined by four complexes of devices: voltmeter M2004, a class of accuracy 0.2 (GOST 8711-78); ammeter M20015, a class of accuracy 0.2 (GOST 8711-60) and electronic oscillographs ASK-2022 and PCS500А.

For clearness we shall note, that the switch of a range of measurement of a voltage voltmeter M2004 corresponded to the maximal size of a voltage 30В, and the switch of ammeter M20015 corresponded to the maximal size of a current 1.5А. Amplitudes of pulses of these sizes were 300V (fig. 209) and 50А (fig. 210) accordingly. 


 For reduction of losses of heat which were not taken into account in experiment, the difference of temperature of a solution before its heating in a cell and after heating was supported by small 
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 (tab. 55).

Definition of energy of the heated up solution

Table 55
	Parameters
	.…1….
	....2….
	....3….

	1-mass of the solution past through a cell
[image: image259.wmf]m

, kg.
	0.798
	0.376
	0.257

	2-temperature of a solution on an input in a cell 
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t

, a degree.
	20
	20
	20

	3-temperature of a solution on an output from a cell 
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, a degree.
	30
	41
	50

	4-difference of temperatures of a solution 
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, degree.
	10
	21
	30

	5-duration of experiment 
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	300
	300
	300

	6-thermal capacity of solution КОН in density of 1020 kg / m3 , kJ/kg/degree *
	3.99
	3.99
	3.99

	7-energy of the heated up solution 
[image: image264.wmf]t

C

m

E

D

×

×

=

2

, kJ
	31.84
	30.00
	30.76


* The directory of the chemist. Chemistry, M., L., 1964.

Definition of the electric energy consumed by a cell with the help of the voltmeter and 
the ammeter

          On fig. 209, 210 and 211 oscillograms of pulses of a voltage, a current and the power received with the help of oscillograph PCS500А are submitted.
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Fig. 209. A pulse of a voltage
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Fig. 210. A pulse of a current
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Fig. 211. A pulse of power

It is uneasy to see (fig. 209, 210 and 211), that the form of pulses of a voltage, a current and power it is possible to lead to  the rectangular form. Thus duration of pulses will be equal 0.00007s, the period of following of pulses – 0.00725 s, frequency of pulses 
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=1000/7.25=137.9 Hz. Porosity of pulses S=0.00725/0.00007 = =103.6. If the form of pulses to count rectangular the factor of filling will be equal Z=1/103.6=0.0096. Amplitude of a pulse of a voltage – 
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=300 V, amplitude of a pulse of a current 
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=50 A and amplitude of a pulse of power 
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=300х50 = 15 kw. In view of it the size of an average voltage will be such 
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 The average size of power can be defined two methods. The first- 
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 Apparently, the size of average power determined by the first variant, approximately in 100 times is less than size of the average power determined by the second variant. The reason of different values of power consists that in the first variant we have divided product of peak values of a voltage and a current into porosity twice, and in the second – once.


 The average amplitude of pulses of a voltage, as shown in fig. 206, made 300 V at average value of a voltage 3.0 V (fig. 212), and the average amplitude of pulses of a current (209) made fig. 50 And at average value of a current 0.5А (fig. 212). Duration of pulses made 
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 According to indications of the voltmeter 
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, the ammeter 
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 and an oscillograph (204) power on an input in a cell of the water-electric generator of heat averages 
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  =3.0х0.5=1.50 Watt. Calculation under the formula (436) gives close result 1.40 Watt.
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Fig. 212. The block diagram of measurement of electric sizes: 1 - a cell; 2-electronic oscillograph PCS500А; 3-electronic generator of pulses

          There is a question: what power devices will show: the voltmeter 
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, the ammeter 
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 established in front of the generator of pulses (fig. 212)? It is quite natural, that the voltmeter will show a voltage of a network 
[image: image285.wmf]2

V

= 220 V, the size of a current also will increase, as in front of the ammeter 
[image: image286.wmf]2

A

 in a network two loadings: a cell 1 and the electronic generator of pulses 3. In our experiment 
[image: image287.wmf]2

I

=0.65А (fig. 209). In result the power sold by the generator of pulses 3 and cell 1, appears such 
[image: image288.wmf]1

P

=220х0.65=143.0 Watt, that obviously contradicts result 
[image: image289.wmf]С

P

= 1.4 Watt, received under the formula (436) which correctness is already proved to us experimentally. 

           Let's pay attention to the received result 
[image: image290.wmf]1

P

=143.0 Watt. It is close to result 
[image: image291.wmf]С

P

=144.8 Watt, received at calculation under the erroneous formula (435). 


 Now we know, the true energy consumed by a cell, devices (show the voltmeter 
[image: image292.wmf]1

V

, the ammeter 
[image: image293.wmf]1

A

) facing to it. Indications of an oscillograph will correspond to true consumption of energy by a cell if to use the formula (436). The formula (435) deform result proportionally porosity of pulses. 

           As measurements were carried out with the help of various devices which duplicated each other for each complex of devices the table of results of measurements and calculations is made. 


 The results of measurement of the electric energy consumed by a cell, with the help of the voltmeter and the ammeter are submitted in tab. 56.      

Table 56.

	Показатели
	.…1….
	....2….
	....3….

	1-mass of the solution past through a cell
[image: image294.wmf]m

, kg.
	0.798
	0.376
	0.257

	2-temperature of a solution on an input in a cell 
[image: image295.wmf]1

t

, a degree.
	20
	20
	20

	3-temperature of a solution on an output from a cell 
[image: image296.wmf]2

t

, a degree.
	30
	41
	50

	4-difference of temperatures of a solution 
[image: image297.wmf]1

2

t

t

t

-

=

D

, degree.
	10
	21
	30

	5-duration of experiment 
[image: image298.wmf]t

D

, s
	300
	300
	300

	6-indications of the voltmeter 
[image: image299.wmf]V

, V
	6.0
	6.0
	6.0

	7-indications of the ammeter 
[image: image300.wmf]I

, A
	0.47
	0.47
	0.47

	8-the charge of the electric power (the voltmeter and the ammeter) 
[image: image301.wmf]t

D

×

×

=

1

1

1

V

I

E

, kJ
	0.85
	0.85
	0.85

	9-energy of the heated up solution 
[image: image302.wmf]t

C

m

E

D

×

×

=

2

, kJ
	31.84
	30.00
	30.76

	10-parameter of efficiency of a cell under indications of the voltmeter and the ammeter     
[image: image303.wmf]1

2

1

/

E

E

K

=


	37.46
	35.30
	36.19


Definition of the electric energy consumed by a cell with the help 

oscillograph АСК-2022

          On fig. 213 and 214 oscillograms of pulses of a voltage, and on fig. 215 – the oscillogram of one pulse of a voltage in a microsecond range are submitted. On fig. 216, 217 and 218 oscillograms of a current are submitted.

   The scale of pulses is equal 
[image: image304.wmf]1

/10. Average amplitude of a voltage (fig. 213, 214 and 215): 

 
[image: image305.wmf]IC

U

 = (29+31+8+33+32+40+40) x10/7 = 304.3V. The size of a current it was defined as a power failure on the resistor with resistance 0.1 Ohm. In view of it the average amplitude of a current (fig. 216, 217 and 218) is equal 
[image: image306.wmf]IC

I

 = (1.7+0.8+1.7 + 2.1+3.2+0.7+2.1+1.3+2.4+1.4+1.4) x0.2x10 / (11x0.1) = 34.18 A. The period of following of pulses Т = 7.25 ms. 

            Duration of pulses was defined under the oscillogram in a microsecond range (fig. 215). Thus the form of a pulse was resulted in the triangular form so that the area of a triangle was approximately equaled the area described by the complex form of a curve of a pulse. In this case duration of a pulse is equal approximately 
[image: image307.wmf]t

 =0.14 ms. Frequency of pulses f = 1000/7.25 = 137.9 Hz. Porosity of pulses S =7.25/0.14=51.78.   

	[image: image308.png]



Fig. 213. A voltage
	
[image: image309.png]



Fig. 214. A voltage
	
[image: image310.png]



Fig. 215. A pulse of 

a voltage in mks a range
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Fig. 216. A current
	
[image: image312.png]



Fig. 217. A current
	
[image: image313.png]



Fig. 218. A current


          Accepting the triangular (0.5) form of a pulse, we shall receive value of factor of filling Z=0.5/51.78=0.01. Average value of a voltage of pulses 
[image: image314.wmf]C

U

 = 304.3 х 0.01 = 3.04 V. Average  value of a current in pulses 
[image: image315.wmf]C

I

= 0.01 х 34.18 = 0.34А.


 Average values of a voltage and a current can be defined, how sizes of a voltage and a current, corresponding to one second. Then, taking into account the triangular form of pulses (k=0.5), duration of one pulse (0.00014 s) and frequency of pulses (137.9 Hz), we have 

 
[image: image316.wmf]C

U

 =304.3х0.5х0.00014х137.9=2.94 V, 
[image: image317.wmf]C

I

= 34.0х0.5х0.00014х137.9 = 0.33 A. Pay attention  that sizes of an average voltage and a current, determined with the help of oscillograph АСК-2022 is, less, than with the help of the voltmeter and the ammeter.

 The results of experiment received with the help of the voltmeter, the ammeter, and oscillograph АСК-2022, are submitted in tab. 57.
Table 57.
	Parameters
	1
	2
	3

	1-mass of the solution past through a cell 
[image: image318.wmf]m

, kg.
	0.798
	0.376
	0.257

	2-temperature of a solution on an input in a cell 
[image: image319.wmf]1

t

, a degree.
	20
	20
	20

	3-temperature of a solution on an output from a cell 
[image: image320.wmf]2

t

, a degree.
	30
	41
	50

	4-difference of temperatures of a solution 
[image: image321.wmf]D

t

t

t

=

-

2

1

, degree.
	10
	21
	30

	5-duration of experiment
[image: image322.wmf]D

t

, s
	300
	300
	300

	6-indications of the voltmeter 
[image: image323.wmf]V

, V
	6.0
	6.0
	6.0

	6’- indications of oscillograph ASK-2022
[image: image324.wmf]'

V

, V
	2.94
	2.94
	2.94

	7-indications of the ammeter [image: image325.wmf]I

, A
	0.47
	0.47
	0.47

	7’- indications of oscillograph ASK-2022
[image: image326.wmf]'

I

, A
	0.33
	0.33
	0.33

	8-the charge of the electric power under indications of the voltmeter and the ammeter 
[image: image327.wmf]t

D

×

×
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V
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E

1

, kJ
	0.85
	0.85
	0.85

	8’-the charge of the electric power under indications of oscillograph ASK-2022 
[image: image328.wmf]t
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E

, kJ
	0.29
	0.29
	0.29

	9-energy of the heated up solution 
[image: image329.wmf]t
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E
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3

2

, kJ
	31.84
	31.50
	30.76

	10-parameter of efficiency of a cell under indications of the voltmeter and the ammeter     
[image: image330.wmf]1

2

/
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K

=


	37.46
	37.06
	36.19

	10-parameter of efficiency of a cell under indications of oscillograph ASK-2022   
[image: image331.wmf]'

/

'

1

2

E

E

K

=


	109.8
	108.6
	106.1



It is uneasy to see (fig. 209, 210 and 211), that the form of pulses of a voltage, a current and power it is possible to lead to  the rectangular form. Thus duration of pulses will be equal 0.00007s, the period of following of pulses – 0.00725 s, frequency of pulses 1000/7.25=137.9 Hz, amplitude of a pulse of a voltage – 300 V, amplitude of a pulse of a current-50 A and amplitude of a pulse of power – 15 kW.

          Then porosity of pulses will be equal S=0.00725/0.00007=103.6. If the form of pulses to count rectangular the factor of filling will be equal Z=1/103.6=0.01. In view of it the size of an average voltage will be such 300х0.01=3 V, and size of an average current – 50х0.01=0.5 A. 

           Let's pay attention to that average sizes of a voltage and a current, determined with the help of the voltmeter and the ammeter, and also with the help of both oscillographs, have close values. 


 The results of experiment received with the help of the voltmeter, the ammeter and oscillographs ASK-2022 and PCS500А, are submitted in tab. 58.
Table 58.

	Parameters
	1
	2
	3

	1-mass of the solution past( through a cell 
[image: image332.wmf]m

, kg.
	0.798
	0.376
	0.257

	2-temperature of a solution on an input in a cell 
[image: image333.wmf]1

t

, a degrees.
	20
	20
	20

	3-temperature of a solution on an output from a cell 
[image: image334.wmf]2

t

, a degrees.
	30
	41
	50

	4-difference of temperatures of a solution 
[image: image335.wmf]D
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t
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, degrees.
	10
	21
	30

	5-duration of experiment 
[image: image336.wmf]D

t

, s
	300
	300
	300

	6-indications of the voltmeter 
[image: image337.wmf]V

, V
	6.0
	6.0
	6.0

	6’- indications of oscillograph ASK-2022
[image: image338.wmf]'

V

, V
	2.94
	2.94
	2.94

	6’’- indications of oscillograph PCS500А 
[image: image339.wmf]'

'

V

, V
	3.00
	3.00
	3.00

	7-indications of the ammeter [image: image340.wmf]I

, A
	0.47
	0.47
	0.47

	7’- indications of oscillograph ASK-2022
[image: image341.wmf]'

I

, A
	0.33
	0.33
	0.33

	7’’-indications of oscillograph PCS500А 
[image: image342.wmf]'
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, A
	0.50
	0.50
	050

	8-the charge of the electric power under indications of the voltmeter and the ammeter 
[image: image343.wmf]t
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, kJ
	0.85
	0.85
	0.85

	8’-the charge of the electric power under indications oscillograph ASk-2022 
[image: image344.wmf]t
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, kJ
	0.29
	0.29
	0.29

	8’’- the charge of the electric power under indications of oscillograph PCS500А at the account of porosity of pulses 
[image: image345.wmf]t

D

×

×

=

'

'

'

'

'

'

1

V

I

E
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	0.45
	0.45
	0.45

	9-energy of the heated up solution 
[image: image346.wmf]t

m

E

D

×

×

=

99

.

3

2

, kJ
	31.84
	31.50
	30.76

	10-parameter of efficiency of a cell under indications of the voltmeter and the ammeter     
[image: image347.wmf]1
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=


	37.46
	37.06
	36.19

	10’-parameter of efficiency of a cell under indications of oscillograph ASK-2022      
[image: image348.wmf]'
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	109.8
	108.6
	106.1

	10’’-parameter of efficiency of a cell under indications of oscillograph PCS500А in view of porosity of pulses   
[image: image349.wmf]'
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	70.75
	70.00
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Representatives from Open Company SITIS count, that the power used in this experiment, it is necessary to expect under the formula (435) which inaccuracy is already proved to us. 

17.7. An estimation of an opportunity of realization of the revealed power effect

           On fig. 219 experimental samples of heating batteries which power supply the electronic generator of pulses was are submitted. As the generator of heat three consistently connected water-electric cells were used. Calculation of pulse electric power on plugs of the battery was carried out under the formula (436). 

           Surface of radiation of heat: а)-
[image: image350.wmf]2

5

.

1

m

; b)-
[image: image351.wmf]2

6

.

1

m

. Three water-electric cells heat up a solution in – а) up to 
[image: image352.wmf]C

0

86

 in - b) up to 81 
[image: image353.wmf]С

0

 within one hour, consuming 15 Watt of power. As much consumes the pump for prorolling a solution and water. The usual electroheating device heats up the same batteries to the same temperature, for same time, taking away from a network 880 Watt.  

	а)[image: image354.jpg]
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Fig. 219. A photo of experimental radiators


 The results of check of influence of an ion 
[image: image356.wmf]-

OH

 on a parameter of power efficiency of the water-electric generator of heat are submitted on fig. 220. Apparently, with increase in density 
[image: image357.wmf]r

 of a solution 
[image: image358.wmf]KOH

, the parameter of power efficiency 
[image: image359.wmf]K

 increases.  

[image: image360.wmf]
Fig. 220. Dependence of a parameter 
[image: image361.wmf]K

 of power efficiency of a cell on density 
[image: image362.wmf]r

 of a solution 
[image: image363.wmf]KOH



It is experimentally established, that the size of power efficiency of water-electric process is influenced with two primary factors: density electrolytic a solution (fig. 220). 


 A preplasma operating mode of a cell of the water-electric generator of heat – the main condition of its high power efficiency. For each design of a cell there is a combination of optimum sizes of density of a solution and electrolytic  backlash at which the steady effective preplasma operating mode is realized.


 So, the analysis of power balance of molecules and ions shows an opportunity of formation of additional thermal energy with a parameter of power efficiency of much more unit, and experiments convincingly confirm this hypothesis. 
The conclusion

          1. Contradictions between computer programs of processing of oscillograms of a voltage, a current and power and indications of all devices, and also - methods of their manual processing are eliminated only at use of the formula (436).

        2. Electric energy will be transformed by a cell of the water-electric generator of heat to thermal energy with a parameter of power efficiency more than 30. The law of conservation of energy is not carried out. 

        3. Power efficiency of a cell is not realized with the help of the electronic generator of pulses. 

        4. Power efficiency of a cell is realized only with the help of the energy source similar magneto.  

        5. The modern industry has not mastered release of magnets of sufficient force to make the electromechanical generator of pulses for a radiator with comprehensible dimensions.

        6. If the electromechanical generator of pulses to create for a complex of the radiators heating the separate house creation of the electromechanical generator of pulses of a voltage and a current is possible, capable to replace the gas boiler, but with the greater power efficiency. Certainly, such system of heating should be mounted from plastic elements.

_1289874617.unknown

_1289879701.unknown

_1289881452.unknown

_1289885234.unknown

_1289886501.unknown

_1289887316.unknown

_1289887583.unknown

_1289887914.unknown

_1289888012.unknown

_1289888073.unknown

_1289892281.unknown

_1289888072.unknown

_1289888071.unknown

_1289888010.unknown

_1289888011.unknown

_1289888009.unknown

_1289887634.unknown

_1289887848.unknown

_1289887856.unknown

_1289887847.unknown

_1289887609.unknown

_1289887423.unknown

_1289887516.unknown

_1289887548.unknown

_1289887446.unknown

_1289887381.unknown

_1289887405.unknown

_1289887345.unknown

_1289886737.unknown

_1289887220.unknown

_1289887277.unknown

_1289887295.unknown

_1289887249.unknown

_1289887152.unknown

_1289887181.unknown

_1289886757.unknown

_1289886595.unknown

_1289886647.unknown

_1289886704.unknown

_1289886615.unknown

_1289886549.unknown

_1289886570.unknown

_1289886528.unknown

_1289885465.unknown

_1289886045.unknown

_1289886437.unknown

_1289886469.unknown

_1289886408.unknown

_1289885617.unknown

_1289886042.unknown

_1289886044.unknown

_1289886041.unknown

_1289885615.unknown

_1289885616.unknown

_1289885614.unknown

_1289885367.unknown

_1289885413.unknown

_1289885439.unknown

_1289885390.unknown

_1289885310.unknown

_1289885341.unknown

_1289885269.unknown

_1289884348.unknown

_1289884914.unknown

_1289884918.unknown

_1289884920.unknown

_1289885197.unknown

_1289884919.unknown

_1289884916.unknown

_1289884917.unknown

_1289884915.unknown

_1289884353.unknown

_1289884355.unknown

_1289884912.unknown

_1289884913.unknown

_1289884910.unknown

_1289884911.unknown

_1289884604.unknown

_1289884354.unknown

_1289884351.unknown

_1289884352.unknown

_1289884350.unknown

_1289881728.unknown

_1289883813.unknown

_1289884344.unknown

_1289884346.unknown

_1289884347.unknown

_1289884345.unknown

_1289883897.unknown

_1289884342.unknown

_1289884343.unknown

_1289883974.unknown

_1289883856.unknown

_1289883745.unknown

_1289883777.unknown

_1289883487.unknown

_1289881586.unknown

_1289881661.unknown

_1289881693.unknown

_1289881622.unknown

_1289881518.unknown

_1289881554.unknown

_1289881482.unknown

_1289880372.unknown

_1289880980.unknown

_1289881094.unknown

_1289881168.unknown

_1289881208.unknown

_1289881134.unknown

_1289881048.unknown

_1289881071.unknown

_1289881019.unknown

_1289880649.unknown

_1289880901.unknown

_1289880937.unknown

_1289880650.unknown

_1289880441.unknown

_1289880647.unknown

_1289880648.unknown

_1289880646.unknown

_1289880402.unknown

_1289879942.unknown

_1289880238.unknown

_1289880289.unknown

_1289880313.unknown

_1289880267.unknown

_1289880171.unknown

_1289880204.unknown

_1289880143.unknown

_1289879809.unknown

_1289879856.unknown

_1289879888.unknown

_1289879831.unknown

_1289879753.unknown

_1289879784.unknown

_1289879730.unknown

_1289877443.unknown

_1289877899.unknown

_1289878167.unknown

_1289878716.unknown

_1289879370.unknown

_1289879634.unknown

_1289879338.unknown

_1289878639.unknown

_1289878715.unknown

_1289878206.unknown

_1289877989.unknown

_1289878074.unknown

_1289878132.unknown

_1289878044.unknown

_1289877934.unknown

_1289877963.unknown

_1289877917.unknown

_1289877742.unknown

_1289877749.unknown

_1289877751.unknown

_1289877756.unknown

_1289877750.unknown

_1289877747.unknown

_1289877748.unknown

_1289877743.unknown

_1289877738.unknown

_1289877740.unknown

_1289877741.unknown

_1289877739.unknown

_1289877734.unknown

_1289877736.unknown

_1289877737.unknown

_1289877735.unknown

_1289877445.unknown

_1289877446.unknown

_1289877733.unknown

_1289877444.unknown

_1289875801.unknown

_1289876250.unknown

_1289876909.unknown

_1289876992.unknown

_1289877441.unknown

_1289877442.unknown

_1289877440.unknown

_1289877439.unknown

_1289876966.unknown

_1289876791.unknown

_1289876823.unknown

_1289876626.unknown

_1289875805.unknown

_1289875808.unknown

_1289875809.unknown

_1289875807.unknown

_1289875803.unknown

_1289875804.unknown

_1289875802.unknown

_1289875155.unknown

_1289875796.unknown

_1289875798.unknown

_1289875800.unknown

_1289875797.unknown

_1289875792.unknown

_1289875794.unknown

_1289875795.unknown

_1289875793.unknown

_1289875788.unknown

_1289875790.unknown

_1289875791.unknown

_1289875789.unknown

_1289875784.unknown

_1289875787.unknown

_1289875156.unknown

_1289875783.unknown

_1289874894.unknown

_1289875152.unknown

_1289875153.unknown

_1289875149.unknown

_1289875148.unknown

_1289874684.unknown

_1289874723.unknown

_1289874664.unknown

_1289833034.unknown

_1289843224.unknown

_1289844434.unknown

_1289874369.unknown

_1289874396.unknown

_1289874561.unknown

_1289874370.unknown

_1289874246.unknown

_1289874247.unknown

_1289874368.unknown

_1289874245.unknown

_1289843228.unknown

_1289843230.unknown

_1289843231.unknown

_1289843229.unknown

_1289843226.unknown

_1289843227.unknown

_1289843225.unknown

_1289833911.unknown

_1289842294.unknown

_1289843220.unknown

_1289843222.unknown

_1289843223.unknown

_1289843221.unknown

_1289843216.unknown

_1289843218.unknown

_1289843219.unknown

_1289843217.unknown

_1289843214.unknown

_1289843215.unknown

_1289842401.unknown

_1289843213.unknown

_1289842213.unknown

_1289842248.unknown

_1289834041.unknown

_1289835130.unknown

_1289833670.unknown

_1289833731.unknown

_1289833846.unknown

_1289833702.unknown

_1289833511.unknown

_1289833561.unknown

_1289833035.unknown

_1289832264.unknown

_1289832649.unknown

_1289832655.unknown

_1289832657.unknown

_1289832658.unknown

_1289832656.unknown

_1289832653.unknown

_1289832654.unknown

_1289832651.unknown

_1289832645.unknown

_1289832647.unknown

_1289832648.unknown

_1289832646.unknown

_1289832634

_1289832641.unknown

_1289832644.unknown

_1289832635

_1289832266.unknown

_1289832267.unknown

_1289832633

_1289832265.unknown

_1289830424.unknown

_1289831164.unknown

_1289831274.unknown

_1289832262.unknown

_1289832263.unknown

_1289832259.unknown

_1289832260.unknown

_1289832258.unknown

_1289831197.unknown

_1289830992.unknown

_1289831048.unknown

_1289830962.unknown

_1289820838.unknown

_1289822312.unknown

_1289830415.unknown

_1289830419.unknown

_1289830421.unknown

_1289830417.unknown

_1289830411.unknown

_1289830412.unknown

_1289822313.unknown

_1289830410.unknown

_1289822310.unknown

_1289822311.unknown

_1289822309.unknown

_1184082404.unknown

_1184139420.unknown

_1184139619.unknown

_1193139000.unknown

_1184139409.unknown

_1184082668.unknown

_1139393356

_1141205119

_1171137596

_1141205035

_1139393257

